Sample Question Paper
Accountancy : Class-XI

Time : 3Hours Maximum Marks : 90

IJHY 39S JAfOrhad b - 90

General Instructions :

(i) This paper consists two parts : A and B. Both are compulosry.
Total number of questions are 26.

(ii) Attempt all parts of a particular question at one place.

g fder:

(@) T8 U A QIR # fQvad 8 | 'S a1 @ ]QF1 W 1A © | fe
e 26 7 |
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Part A: Financial Accounting -l
AT & fa<ig eraid — |

1. Write any one objective of Accounting. 1

. TG+ BT PIs b SeY foIRay |

2. Define Accounting. 1

. SIETH BT YRATT BT |

3. Give any one example of transaction for which Journal Proper
isused. 1
f¥l T U ofFTaT BT IaTERT QIfoTY, forga foru IS
2Ty o1 SUATT fohar ST R |

4. What is Suspense Account? 1
AT QT R R |

5. Give rectifying Journal entry for the following error. Sales
Return Book is undercast by 10,000. 1
ﬁﬁ[\mjﬁg{ Tq I H WA ufafte ST | e aru=dt 21
DT IMT X 10,000 <bH T ITAT AT |

6. Explain any three advantages of Accounting. 3

TGThT & fdheal oI AT} DT gui BHITTT |



9.

(@)
(b)
(c)

(d)

Explain in brief four limitations of financial Accounting. 4
T SraTer=T @1 faheel TR 131 o Higred quie HIfY |

What is meant by a voucher? Prepare an imaginary specimen
ofavoucher. 4

AT T 9T 31ef B | Yo YOI T Hicd=Tds 9T g1V |

Journalise the following Transactions. 4
Goods destroyed by fire forI 4500.
PaidX 1500 in cash as wages on installation of machinery.

Issue a cheque in favour of M/s. Parmatma Saran & Sons on
accounts of purchase of goods< 7500.

Goods sold costingX 6000 of M/s. Kalu sons at an invoice price
of 10% above costless 5% Trade Discount.

f=ferRad aeRT &1 Ao § forlRaw —

42 %

~—"

(b)
(c)

(d)

422z

3TRT ¥ el UR 4500 . T HIel =I5 & 137 |
T AT & LRATTUT dHRA B HOTGRT 1500 %, Tha YA Bl |

AT BT Y BT b HolRdwY 7500 BYI BT b H URHATAT TR
UUs 69 bl i fhar |

6000 BU AT Hed PI AT H Bl T DI NI | 10 Gfererd
31fSres AT 5 UfTerd 82 & dioidh Hed UR 947 |

Enterthe following transactions in a two column cash book:-

Commenced business with cash3 50,000
Deposited in bankZ 40,000

Received cash from Mohan< 950 in full settlement of a debt of
< 1000.

Bought goods forcash3 10,000
= el I fgwasia Jws 981 # ufae oifsrg—

% 50,000 X[hs 3 AT URY b |

% 40000 4 H ST Y |
% 1000 I ITGRI @ YoT YA a6y A8 ¥ T 950 YT gV |
% 10,000 T ATA b Y T |
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Explain any three of the following with examples. 6
Money Measurement Concept
Principle of full Disclosure

Accounting Standards

Principle of Dual Aspect

fr=faRaa # 1 fagl 9 BT SeTERYT Afed THASISY—

YT |19 LRI

qUT YHEIHROT BT RigTa

SRGIh AD

feuelra Rigra

Mohit has following transactions. Prepare Accounting Equation :
Business started with cash X 1,75,000
Purchased goods from Rohit % 50,000
Sold goods on credit to Manish (costingX 17,500) 20.000
Purchased furniture for office use 10,000
Cash paid toRohit in full settlement 48,000
Cash received from Manish 20,000
Afed & 7 FcH! | oRaidh+ THIDHRUT §AZT—
IPS A FIART YRH T | 75,000

Rifed & ATt oy fha | 50,000
Y DI SR ATl 997 (R 17,500) 20,000
BHTATTI ITINT B BiaR WRIAT | 10,000

AT BT Yot YT wY A fear 42,500

Y 3 b U fan 20,000

On April 1, 2011 X Ltd. purchased Machinery for X 1,00,000
The accounting year of the Company ends on 31st December
every year. Depreciation @ 10% p.a. on the initial cost is
charged to P & L Account and credited to a separate account
known as 'provision for depreciation' account. On 1st July 2013
the machine purchased on 1st April 2011 was sold forZ 60,000.
You are required to prepare machinery Account and Provision
for Depreciation Account upto 2013. 4



14.

(i)

)

(iii)
(iv)

1 3 2011 BT U oIS 9 100,000 BT FLM=RI A o
HUT BT ol@Thd ay Ui a¥ 31 fSHaR &I AT BIAT © o™ &1+
G H ol ANTd U= 10UFRIG $I &% B Aol fhar SIrar §
TAT Ueh 3T T S B[ o UG & A A ST el &, o
Bfee foar Sar 21 1 e 2011 BT B DI T8 7 1 s
2013 &I % 60,000 § I &I g | AT 2013 Tb HARI FTAT AT

¥ = U QT IR BT | —

A purchased goods for% 15000 from B on 1st March. 2013 and
gives him two Bills. One forZ 10,000 at two months & other for
< 5000 at four months. A meet the first bill at maturity but on
25th June, 2013 he is declared insolvent and 60 paise in a
rupee amount was received from him on August 20, 2013.
Journalise in the books B and prepare A’s A/c.

OR
Chhabra & Sons find that overdraft shown by their cash Book
on 31st March 2013 is X 30,500 but the Pass Book shows a
difference due to the following reasons. 6
A cheque forX 6000 drawn in favour of Shyam has not been
presented for payment.
A post-dated cheque forZ 1000 has ben debited in the Bank
column of the Cashbook but it could not have been presented in
Bank.
Cheque totallingX 12,000 deposited with the bank have not yet
been collected
A bill for Rs. 5,000 was retired by the bank under a rebate of
% 120 but the full amount of the bill was credited in the bank
column of the Cash Book. Prepare a Bank reconciliation
statement and find out the balance as per pass book.
T T 15,000 BT HATA 1 m%fzowﬁao—aﬁv—ma‘mwaﬁ
9 WHR BB AU | TP 10,000 T BT QT AL BT AT GAT
5,000 %. BT IR FeH &I | T = URYFFIT IR Ugel [det T YIa
PR 3T UR= 25 S 2013 DI IF feaTferar & A1 AR IHSD!
FHIT W 20 ST 2013 DI 1 3. 1 A 60 UH & 3G I I
Hx fear ar | ft & AoHrTe | gfaftedt sifste den 61 o afgal
H T BT @rar W a8 |

3=AdT

BIIS] UUS U I b g1 & (AR 31 A, 2013 Dl 30,500 9.
d JNMATIHY o ST ITh! UTH b I 71+ BRI F 4T 27 |



15.

16.

17.

18.

19.

AT BT 6,000 U A YA (B <Ifhd I8 o & § Y=
& folu URgT =181 gaT |

1,000 %. & URE o (fasy # e arelt fafdr &1 o) o1 ufafte
&S I8! @ Adb Pictd H AT B Gl TS olfh1 39 b H STHT el
PR D |

1,200 . & b db H AT fhd T oAfhT 59! If3 1) dh STHT
T8I 8% |

% §RT 5,000 %. T e BT YA 120 3. B HR Qa1 747 |
b A 981 & 4 W H 3D Yfafte qoi ey 3 & <7 718 |
& FHRIT [qaR0T 9978 TAT U g BT A FHh1ferg |

Part B : Financial Accounting-ll
AR 9 : o< d@iee— |l

Define 'Revenue Expenditure. 1
AT @’ BT URATT DI |
Why is profit & Loss Account not prepared in ' Not-for-Profit

Institution'? 1
IR ST AT H AT —BTH QT aIf 81 ST 7T |

Give any two examples of Not-for-Profit organisations. 1
R AMSHRI FISAT & DIS QI SQTExYT STy |

Define Computer System. 1
HFRER YOTTeAT BT IRATRIT B |

Mayank does not keep proper records of his business. He give
you the following information. 1
Opening Capital 1,00,000

Closing Capital 1,25,000

Drawings made during the year 30,000

Capital added during the year 37,500

Calculate profit or loss for the year.
AID I I o Sferd el el @dT | 98 39 B e
IS AT & —




20.

21.

22.

23.

24.

EINEEE | 1,00,000

SIRERN) 12,5000

Y & SR T3 T8 MRS Yoil 37,500

qY & QR T T 3mexT 30,000

Y BT AT AT BT YRS T DI |

Give any three example of Capital Expenditure. 3

ST g & BIg I SETER0T ST |

Distinguish between Income and Expenditure Account and
Receipt and Paymant Account on the following basis. 3

(a)  Nature (b)  Basis (c) Balance
Explain any three limitations of computer system. 4
HRER YUTTell &l feal I A1l &7 9ol B |

Explain any two of the following 4
(a) Capital Fund (b)  Legacy

(c) Specific Fund

fFreforRae @ | fobegl &1 1 quiF HIfoT |

(@) Yoy @) oA @M R ey

From the following information and receipts and payment
account, prepare an income and expenditure account of Royal
club forthe yearending. 31st December, 2013

4

Receipts g Payments g

To Balance b/d 1,600 By Salaries 1,900
To Subscription By General Expense 800

2012 200 By Books purchased 800

2013 2000 (1.7.2013)

2014 250 2,450 By Electric charges 200
To Entrance fees 650 By Balance c/d 3,850
To Donations 1,200
To Life membership fees 1,600
To Sale of newspapers 100
To Rent 150

7,550 7,550




(i)
)

(iii)

(iv)
(v)

The club has 50 members each paying an annual
subscription of% 50.

On 31st December, 2013 salaries o/s was ¥ 150 &
salaries paid during 2013 also included X 100 for the
year2012

On 31st December, 2012 the club had land and building
10,000, furniture Rs. 3, 500 and books3 1,500
Provide depreciation on furniture and books
@ 10%p.a.

Entrance fees and donations are treated as revenue
items. 6

(RT3t AT ISy U YTl W & SR UR I Fold Dbl
31 feIwR 2013 AT B el 99 & oI 31 Ud & Wl AR

P
gftaar S HId 5
fUsar 2y 1,500 | 9= 1,900
e AW Y 800
2012 200 forard RIS (1—7—2013) 800
2013 2000 ESEIRCE] 200
2014 250 2450 | erf<qH 9w 3,850
EENINIY 650
M 1,500
SINICE R RSN 1,500
AR 93 BT Ay 100
o 150
7,550 7,550
(@) gaazﬁmﬂm%awmmsovmﬁzﬁww
I
@) 31 feawR 2013 &I 999 © 150 %. 3G o | 2013 # feU
T I 7 100 %. 2012 & AR & |
(M) 31 fTE=R 2012 P FI9 B YR 10,000 B. DT HaT 3500 .
BT BATER TAT 1,500 B. bl G o |
(@) AR SR YDl UR 10 UfoRrd a1fies &% 9 g1 oisy |
(8) UQE Yodh Ud & B AT G A |



25.

26.

Explain the various elements of a computer system. 6
PR YUITCA! & (AT Teai Bl AT DIy |

The following are the balances extracted from the book of
Rajan on 31st March, 2013

Rs. Rs.

Rajan's capital 30,000 Sales 1,560,000
Raajan's Drawings 5,000 Sales return 2000
Furniture andfitting 2,600 Discount (Dr.) 1600
Bank Overdraft 4,200 Discount (Cr.) 2000
Creditors 13,800

Business Premises 20,000 Taxes & Insurance 2,000
Stock (1.4.2012) 22,000 General Expenses 4,000
Debtors 18,000 Salaries 9,000

Rentfrom Tenats 1,000 Commission (Dr.) 2,200

Carriage on Purchases 1,800

Purchases 1,170,000 Bad Debts 800

Additional Information -

(i) Stock on hand on 31st March 2013 wasX 20,060

(ii) Write off Depreciation : business premises X 300,
Furniture and fittings 250

(iii)  Make a provision of 5% on Debtors for Doubtful debts.

(iv)  CarryforwardX 200 for unexpired Insurance.

(v) Outstanding salaryX 1500

Prepare Trading and Profit & Loss A/c forthe year ended March
31, 2013 and a Balance sheet as on that date.

OR

From the following information relating to the business of Mr. X,
who keeps books by single entry, ascertain the profit or loss of
the year 2013.

IstdJanuary 2013 31stDecember 2013
(Rs.) (Rs.)
Machinery 16,000 16,000
Furniture 4,000 4,000



Stock

Sundry Debtors
Bank Balance
Sundry Creditors

10,000
9,000
3,600
7,000

Mr. X withdrewX 4,100 during the year to meet his household
expenses. He introduced X 600 as fresh Capital. Machinery
and furniture to be depreciated by 10% and 5% per annum

respectively.

31 HT, 2013 BT ST BT GIhi F 71 29 forg MU 2 |

3.
NSRS 30,000
RIS BT &R0 5,000
HereR g fhfeT 2,600
d srfarfaay 4,200

AN

ISR 13,000
AR URR 20,000
BT (14.2012) 22,000
EREAN 18,000
fPRTIERT S fhR&T 1,000
) 1,10,000
SAferRer == —

() 31 | 2013 I XBIHAT %. 20,060 T |

fasrar ara=it
e (sfde)
e (dfee)
DX F G
A &

e (Sfde)

2.
1,50,000
2,000
1,600
2,000
2,000
4,000
9,000
2,200
800

(@) BE gy IaER URER TR %. 300; Birax  fhfcT iR

. 250

(M)  <FERI W 5 YRR & & ¥ dfete FON g UTae

DI |

(&)  Ydext 4141 @ . 200 37T of S5 |

(8) ofad Ia+ 3. 1500

AT 31, 2013 DI FATK IY B ATIR TAT ATI—ET TTT I15Y



qT T Tty @1 3mieies fRrceT Wi 918y |

rerdr
1 T, ST UHA YUl ¥ oEidhd BRd § B gDl H W
e a9 2013 & ford fforRad gamm o 7€ § 1 99 2013 &

for AT 31erdT BT @1 0T BT |
199a], 2013 31 Q9w 2013
3. 3.

ENIEN] 16,000 16,000
HATER 4,000 4,000
TP 14,000 10,000
faf=1 T IeR 8,000 9,000
d 2y 400 3,600
faf=1 oMeR 10,000 7,000

Y TR I B 21 T T 4100 DT ATERVT (b T | I78I+ 600 .
DI AR ol Fadr | o Tg | AR @1 Heirerk R 10
gfrerd @I 5 Uferd sHen: a1ififd 8T (Depreciation) & ST
&
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Marking Scheme of Sample Paper
Accountancy : XI
Any one objective of Accounting.
Accounting:

Accounting is the art of recording, classifying and summarising
in a significant manner and in money, transactions & events
which are, in past at least, of a financial character, and
interpreting results there of.

Correct example.
Suspense Account.

Suspense Account is a temporary ledger account, opened for
putting the difference on shorter side of the trial Balance.

Journal

Date

Particulars CF| Dr.R) | Cr. R)

Sales Return A/c Dr. 10,000

To Suspense Alc. 10,000
(Sales return book is undercast by X 10,000 now
corrected )

Any three of the following advantages with brief explanation:
(i) Assistance to Management.
(ii) Replacement of Memory
(iii)  Comparative Study
(iv)  Settlement Taxation liability

orany other
Y2 mark fornaming and 2 mark for expansion = 1/3 3
Correct explanation of any four limitation of Accounting. 1x4
Voucher :

The documents prepared for the purpose of recording
business transactions in the books of accounts are known as
Vouchers.

Correct Specimen of Voucher



9. Journal

Date Particulars CF| Drr.R) | Cr R)
a) Loss by Fire Alc Dr. 4,500
To Purchases Alc. 4,500
(Being goods destroyed by fire)
b) Machinery Alc. Dr. 1,500
To Cash Alc 1,500
(Being wages paid for installation Machinery)
c) Purchases Alc Dr. 7,500
To Bank Alc. 7,500
(Being goods purchased by cheque)
d) M/s Kalu Sons Dr. 6,270
To Sales Alc 6,270

(Being goods sold costing X 6,000 at on invoice
price of 10% above cost less 5 % trade discount)

10. Dr. Cash Book Cr.
Date Particulars | J.F.| Cash | Bank | Date Particulars | J.F. | Cash | Bank
a) | To Capital A/c 50,000 b) |By Bank Afc 40,000
b) | To Cash Ac c 40,000 q) |By Purchases Alc 10,000
¢) | To Mohan 950 c) | By Balance c/d 950 | 40,000
50,950 | 40,000 50,950 | 40,000
11.  (Meaning + Example) of each (1+1)x3 6
12.
Assets Liabilities + Capital
Cash + Goods + Debtors + Furniture = Creditors
1,75,000 = 1,75,000
+ 50,000 = 50,000
1,75,000 + 50,000 = 50,000 1,75,000
— 17,500 + 20,000 +2,500
1,75,000 + 32,500 + 20,000 + 10,000 = 50,000 1,77,500
—10,000 +1,500
1,65,000 + 32,500 + 20,000 + 10,000 = 50,000 1,79,000
—48,500 -50,000
1,16,500 + 32,500 + 20,000 + 10,000 = 1,79,000
+20,000 —20,000

1,36,500 + 32,500 + 10,000 = 1,79,000




13.

Machinery Account

Dr. Cr.
Date Particulars J.F. g Date Particulars J.F. g
2011 2011
Apr.11 To Bank A/c 1,00,000 | Dec.31 | By Balance c/d 1,00,000
Jan, 12 | To Balance b/d 1,00,000 | 2012 By Balance c/d 1,00,000
2013 2012 | Dec.31
Jan. 1 To Balance b/d 1,00,000 | Jul. 1 By Bank A/c 60,000
By Prov. for Dep. A/c 22,500
By Loss on Sale 17,500
1,00,0000 1,00,000
Provision for Depreciation Account
Dr. Cr.
Date Particulars J.F. g Date Particulars J.F. g
2011 2011
Dec.31 | To Balance c/d 7,600 | Dec.31 | By Depreciation c/d 7,500
7,500 7,500
2012 2012
Dec. 31 | To Balance b/d 17,500 | Jul. 1 By Balance b/d 7,500
Dec. 31| By Depreciation A/c 10,000
17,500 17,500
2013 2012
Dec. 31 | To Machinery A/c 22,500 | Jul. 1 By Balance b/d 17,500
Dec. 31| By Depreciation A/c 5,000
22,500 22,500
14. Journal
Date Particulars CF| Dr.R) Cr. R)
2013
Mar.1 | A Dr. 15,000
To Sales Alc. 15,000
(Being goods sold to A)
Mar. 4 | Bills Receivable-I Alc. Dr. 10,000
Bills Receivable-Il Alc Dr. 5,000
To Cash Alc 5,000
(Being two bills received from A)
May 4 | CashAlc Dr. 10,000
To Bills Receivable-| 10,000
(Being cash received on maturity)
Jun.25 | A Dr. 5,000
To Bills Receivable-Il 5,000
(Cancellation of second bill)




Aug. 20 | Cash Alc Dr. 3,000
Bad Debts Alc Dr. 2,000
ToA 5,000
(60% received from official receiver of A)
Dr. A's Account Cr.
Date Particulars J.F. T Date Particulars J.F. 54
2013 2013
Mar.14 | To Sales Alc 15,000 | Mar. 1 By Bills Receivable-1 10,000
Jun. 25 | To Bills Receivable-i 5,000 By Bills Receivable-ii 5,000
Aug.20 | By Cash Alc 3,000
By Bad Debts Alc 2,000
20,000 20,000
Or
Dr. Bank Reconciliation Statement Cr.
as on March 31, 2013
Particulars (+) items | (=) items
Overdraft as per Cash Book 30,500
Add: Cheque issued but not yet presented 6,000
Less: Cheque recorded in cash book but not banked 1,000
Less Cheque deposited but not collected 12,000
Add: Rebate amount not considered on retirement of bill 120
Overdraft as per pass book 37,380
43,500 43,500

15.  Revenue Expenditure

The amount incurred for maintaining the earning capacity of
the business, benefit of which is direct and would be in the
same accounting year itself in which such expenditure has
been incurred is termed as revenue expenditure.

16. One mark for correct reason

17.  Yamarkforeach example

18.  Computersystem:

A computer is an electronic device which accepts input in the
form of raw data, processes it and gives desired results called

output.




19. 3
Closing Capital 1,25,000

Add: Drawings 30,000
1,565,000

Less: Additional Capital 37,500
1,17,500

Less: Opening Capital 100,000

Profit forthe year 17,500

20. Three examples of one mark each. 1x3

21.  Difference between receipts & payments and income &

expenditure account
Basis Receipts & Payments Account Income & Expenditure Account
Nature | It is a real account and It is a nominal account and
summarizes all cash summarizes all expenditures
transaction of non-profit and incomes of a non-profit
organizations. organization.
Base This account is based on This account is based on
cash basis of accounting. | accrual basis of accounting.
Balance| It ends with the closing | The closing balance is either
balance of cash and bank | surplus (if there is an excess
balance of income over expenditure)
or deficit (if there is an
excess of expenditure over
incomes)
22.  Anythreelimitations of computer of 1 mark each 3
23. a) Capital Fund : The term 'capital’ is nowhere found in the

case of non-profit organizations instead capital fund,
general fund or accumulated fund is appearing in the
Balance Sheet. The amount of this fund is calculated by
deducting the amount of liabilities from the value of



assets. In this manner, we can say that the method of
finding out this fund is exactly the same way as of
calculating the capital of any business enterprise.

b) Legacy: Legacies represent the amount received by
organization under a will on death of the contributors.
The reasons may be specific or general. It is shown as
receipts in the Receipts and Payments Account. It's
non-recurring in nature, hence capitalized. Legacies
received for a specific purpose should be capitalized in
the name of the fund for which it has been received.
Legacies received for general purposes may be added
to the capital fund. However, legacies of a small amount
may be treated as income.
c) Specific Fund : Specific fund is created to carrying out
those specific activities for which such fund is obtained.
Explanation of any two 2x2
24. Income & Expenditure Account
For the year ended on December 31, 2013
Expenditure 3 Income 3
To Salaries 1,900 By Subscriptions 2,500
Add: Outstanding 150 By Entrance Fees 650
2,050 By Donations 1,200
Less: For 2012 100 1,950 By Sale of Newspaper 100
To Depreciation on By Rent 150
Furniture 350
Books 190 540
To General Expenses 800
To Electric Charges 200
To Surplus 1,110
4,600 4,600

25.  Explanation of any six component of computers. 1x6



26. Trading and Profit & Loss Account

Dr. For the year ended on March 31, 2013 Cr.
Particulars 3 Particulars 3
To OpeningCock 22,000 | By Sales 1,50,000
To Purchases 1,10,000 | Less: Returns 2,000 | 1,48,000
To Carriage on Purchases 1,800 | By Closing stock 20,600
To Gross Profit 34,260
1,68,060 1,68,060
To Depreciation on By Gross Profit 34,260
Business Premiss 300 By Rent from tenants 1,000
Furniture & Fittings _250 550 | By Discount 2,000
To Bad Debts 800
Add: Provision 900 1,700
To Taxes & Insurance 2000
Less: Unexpired 200 1,800
To Salaries 9,000
Add: Outstanding 1,500 10,500
To Discount 1,600
To General Expenses 4,000
To Commission 2,200
To Net Profit 14,910
37,260 37,260
Balance Sheet as at March 31,2015
Liabilities g Assets g
Outstanding Salary 1,600 Stock 20,060
Capital 30,000 Business Premises 20,000
Less: Drawings 5,000 Less: Dep. 300 19,700
25,000 Furniture & Fitting 2,600
Add: Net Profit 14,910 | 39,910 Less: Dep. 250 2,350
Bank Overdraft ~— | 4,200 | Debtors 18,000
Creditors 13,800 Less: Provision 900| 17,100
Unexpired Insurance 200
59,410 59,410




Statement of Affairs
as at 1st January 2013

Liabilities 4 Assets 4
Sundry Creditors 10,000 | Machinery 16,000
Furniture 4,000
Capital (Bal. Fig.) 32,400 Stock 14,000
Sundry Debtors 8,000
Bank Balance 400
42,400 42,400
Statement of Affairs
as at 31st December 2013
Liabilities 4 Assets g

Sundry Creditors 7,000 | Machinery 16,000
(-) Dep. 1,600 | 14,400

Furniture 4,000
(-) Dep. 200 3,800
Stock 10,000
Sundry Debtors 9,000
Capital (Bal. Fig.) 33,800 Bank Balance 3,600
40,800 40,800

Statement of Profit or Loss
Particulars 3

Capital at the end 33,800

(+) Drawings 4,100

37,900

(=) Additional Capital 600

37,300

(=) Opening Capital 32,400

Profit for the year 4,900




